Seat No.: Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER -2 * EXAMINATION - WINTER 2016

Subject Code: 320026 Date:19-11-2016
Subject Name: Surveying
Time: 02:30 PM TO 05:00PM Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Each question carry equal marks (14 marks)
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Define Surveying. Explained the principles of surveying with neat sketch
cletaloll catvaul vl ucleiuloll Rtutdl ugld W wmes .
Draw neat sketch of 20 m chain showing all necessary details

20 Hl. Aisn €3] Aett (@AY ewdll st

List the instrument used for Chaining with their uses.
Ade(lol U2 dAURdl Utolloll 2UEL Aot GUAN WA wRUA.
Explain the term Base line, Check line and Tie line with neat sketch.

ULUR AL AL UL A AL WL UEL 29 ALglA &AMl

OR
Differentiate between 1) Fore Bearing & Back Bearing, 2) Whole Circle Bearing
and Quadrant Bearing.

dstald AW 1) AUARDL wal YA, ) Yalgd Aol wal gdule
A3l

Define contour. State uses of contour.

AR ulefl caltuaul . Aot U200 QUL
Explain Temporarily adjustment of Dumpy level.
srflAactell soul Aresotoll Il Amestal.

OR
State characteristics of contours with sketches.

AR el Alat@s il gl A U,
Define Levelling, B.S., F.S., I.S., Change Point, Reduced level and Bench mark.
Aaclol ol A, dsAA, As.A™U., (Baoed g, uat GULE Aa

dcdRest ofl catval .

List various accessories required for plane table survey with their uses.
AHUe Adaulell Hidell Aolloll oltH wal GuAoL sl

Define R. F. A plan represents an area of 14105 Sq m and measures by
8.50 x 6.50 cm. Find out R. F. of the scale.

(A0 wy@lsell catval . As sisal GUR 1¥0U ARY Hl2Rd]

A0 €. U0 x 5.U0 A3 lcdlde 8. A Wetoll (A0 yrls .
OR

1/3

07
09
07
(O1V)

07
(O1V)
07
09

07

09

07
09
07
09

07
09

09

07
09
07

0V



Q.4 (a) State advantages and disadvantages of plane table survey.
Ysl. ¥ A AHUR ARl $lAEL Wal ARSLAELRAL R
(b) Define scale. If R.F.=1/1500 draw a scale to show 108m on it.
ol Wcdoll catvaul WL % AR A% .=1/1500 A Al A FBA Rl Aol UR

0¢ Hl iy gl asta.

Q.5 (a) Froma chain line offsets are taken to an irregular boundary at a regular internal

of 10 mt. Find out area between survey line and boundary using Simpson’s rule.
Offset 7.26, 5.83, 6.45, 7.20, 8.18, 8.00 and 0.

sl U u Asn il A AAARA wisRell s€ aA 10 Ml ol RaMd vidRel
WAl sHolG oA Yool lul & Riudet 3¢tall GUIL 531 USN WL &€
Al Al (AU WAl A WAL [ArcAlRe] A2sn AL .

Uojcull 0, V.RG, U.C3, 5.¥U, 9.0, €.9¢ Aal O,

(b) The following consecutive readings were taken on continuously sloping ground at
common interval of 20 m The First reading was taken on B.M. of reduce level 50 is
1.690, 2.100, 2.800, 3.250, 2.150, 2.950, 3.850, 2.320, 2.740, 2.960 & 3.450.
Prepare page of a level book. Calculate R.L. of all Point. Use any Method

ol Add alnaoll ¥Hlot GUR 20 Hl ol AR ollA Yool WA S AclHl
vleAal B, yuH Addlset ofl. A, UR AclHl wAA B. dof WIR. Ad.
woHl. Al 1.5¢0, R.400, R.¢00, 3.2U0, R.9U0, R.¢U0, 3.CU0, .30,
VY0, .50 Wl 3.¥U0. AdA 6fse] Ulej tlotlall. cidualls ofl ol 5. 518

Uyl As Adoll GUAL 531 €35 ciBsllsell WR.AA. ol alRLAl 53

OR
Q.5 (&) The length of line measured with a 30 m chain was found to be 610 m. The true
length of the line was 612.5 m .What is the actual length of the chain.

us.u A 30 Hlerell Aisa ad As el clottes Hiudl s20 Hl g usl.

udle(l AR dotteS s9.u0 Ml dla dl Aisn ofl WRUR calleS 9 8 ?

(b) The observed bearing of line of closed traversed ABCD is as under. Calculate all
interior angle.

Line F.B. B.B.

AB 108° 45° 289° 30’
BC 1°0° 181°0°
CD 303°15° 124°30°
DE 226° 30’ 44° 30°

ol As ol HARWE ABCD $cl aua oA Yool ofl ARol Aauul wact &
Al oLl ol vjeudl 20wl

Line F.B. B.B.

AB L0¢%%U R¢E° 30
BC ° 0 ¢°0
CD 303°U 1¥%° 30
DE RS° 30 ¥¥° 30
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